Problem Set 1

Data Analysis and Visualization using R
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Information & Instructions
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Here starts the actual test

Part 1: Data loading and cleaning
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dplyrQ| filter ()
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dplyrQ| select ()
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dplyr2| mutate()
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df %>% mutate(
x = case_when(
conditionl ~ "resultl",
condition2 ~ "result2",
condition3 ~ "result3",
TRUE ~ NA_character_

) %>% parse_factor(., levels = c("resultsl", "results2", "results3"),
ordered = T, include_na = F)
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df$x <- factor(c("resultsl", "results2", "results3"))
as.integer(df$x) # O 2% YO8l &MTZ &2 7t O ARICE
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df$x <- factor(c("resultsl", "results2", "results3"),
levels = c("resultsl", "results2", "results3"))
as.integer (df$x)
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dplyrQ| count ()
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Part 2: Data Visualization
24| 6: ggplot20)

ofziel 2710 2t 222 A4otet. H, RE E82
dep_delay®t arr_delayl| 2EXE VI H BEOHE £ U= E2
YA BH= distnace_bins HeE Y T EO0E = U= YHLRR EX

o
(e} =
20 712X AEE BE L X AR EAF X AR OFY H HOE



	Information & Instructions
	Here starts the actual test
	Part 1: Data loading and cleaning
	문제 1
	문제 2
	문제 3
	문제 4
	문제 5

	Part 2: Data Visualization
	문제 6: ggplot2()



